arp 13:

Echping Skills Sh
-

21 2008 - 4=
52. $14.28 - $8.09 =

:

13. 8x4x7=
<14 27x8 =8x

W

. Write this in standard form: 6 thousands, 4 tens, 7 ones, 8 hundreds

o)

. 5,000 - 2,064 =

. What number is missing? 63, 56, 49, , 35

&

Derrick scored 16 points in the game. His team scored a total of 58
points. Their opponents lost the game by 6 points. How many points did
the rest of Derrick’s team score?
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Mental Math: 4.1 Solve This!
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k&4 What number will be in the ones place of the
Ll product when one hundred 7’s are multiplied?
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